40

1

53,54

2
H2S
H 8 H2S
SO; + S* tH,0+CO,  S% +2H"%® H,S
3 Fe(OH): Fez(POa):
2 Fe?
H2S
HS HS &? H
BOD
H
H 7.5
1
103-8430 4-9-11



@)

)

©)

DO

CH, CO, H,S
H,S (
Y ﬁ N\
<>
cop, , DO; ,
cob ] F
{} 2\ ’
i 9)
% —}
CH, CO, H,S
1
65% 35%
d\(;\:aj =P - bW, 1)
Wi g/m? i No.
Pai g/m?/
Bi 1 0.72 ( 0.7)*
B
Ri =bw,e " ey
Rai g/m?/ ra 1/m Hi m
2 2
2
dw
— =(-aP - bW ®)
Wi H2S mg/m? Pi mg/m?/
a a
Bi 1
R =bwe*" @
Ri g/m?/ Y i 1/m 0.075 DO+0.56
COD S? DO 3
DO 2



d
—(EM)=C.Q1- CQ + B A - KeG(+ ) ©®)
Ci mg//! Vi m?
Qi m¥sec  Ei g/m?/
Ai m? Kc 1/
\
COD o o — —
o o o o 0.76 DO
DO — o — —
()]
11 8
2
B
3
StA 24.9% 032m stC 23.0% 0.40m

11/9 11/10 11/11 11/12 11/13 11/14 11/15 11/16 11/9 11/10 11/11 11/12 11/13 11/14 11715 11/16

StG 2754 066m
500 10
=
5 400 ] {os
g — £
300 | 1 06
200 | 1 04
o 100 | 02
T
0 00
11/9 11710 11/11 11/12 11/13 11/14 11/15 11/16
2 H,S



x 0.2m

)

mg/m?/h)

(mg/ )

270

260
0:00

12:00 000 12:00 0:.00 12:00 0:00 12:00
1 2 3 4

HoS

0:00

DO

12
A COD 2

10 A COD 8

(AP m)

S§52.10.13

38 ppool

905 1991



